TITLE:	CAREER SERVICE AWARDS											
TERM:	JUNE 1, 2003 thru MAY 31, 2004						<u> </u>					
	<u> </u>	Page 01	of 01			PROGRAI	M B770	5 - S				
	DEPARTMENT OF THE TREASURY		ALLEGRA P	RINT/IMAGING	ALLEN V	AYNE LTD	DUKE P	RINTING	GAMBLE	LETTER SERV.	HIGH SCHO	OL CONNECTION
	(IRS)	BASIS OF	Schaumb	urg, Illinois	Chantill	y, Virginia	Rockville	, Maryland	Buffalo	, New York	New Orle	ans, Louisiana
	PROGRAM B776-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I.	COMPLETE PRODUCT:						ļ					
(a)	Overprinting Certificates											
(1)	MAKEREADY/SETUP PER PRINT ORDER	36	115.00	4, 140.00		4,500.00	<u></u>			λ. <u></u>		·
(2)	RUNNING PER 100 CERTIFICATES	1800	10.95	19,710.00	9.00	16,200.00	3.50	6,300.00	7.50	13,500.00	895.00	1,611,000.00
II.	PACKING & SEALING FOR											
	DISTRIBUTION:	ļ										
(a)	Packing and Sealing Shipping Containers	444	25.00	2 500 00	24.00	2 456 00		720.00	17.00	2 440 00	20.00	2 000 00
	per container	144	25.00	3,600.00	24.00	3,456.00	5.00	720.00	17.00	2,448.00	20.00	2,880.00
	CONTRACTOR TOTALS	ļ		\$27,450.00		\$24,156.00	 	\$10,620.00		\$17,152.20		\$1,617,480.00
	DISCOUNT	-	2.00%	\$27,430.00 \$549.00	5.00%	\$1,207.80	0.00%		0.00%	<u> </u>	5.00%	····
	DISCOUNTED TOTALS	-	2.00%	\$26,901.00	5.00%	\$22,948.20	0.00%	\$10,620.00	0.00%	\$17,152.20	5.00%	\$1,536,606.00
	DISCOUNTED TOTALS	ļ		\$20,501.00		922,570.20		\$10,020.00		917,132.20		\$1,550,000.00
		<u> </u>					 	AW ARDED				
							<u> </u>	AWAIIDED				
		ļ					 					
TITLE:	CAREER SERVICE AWARDS	-					 					
TERM:	JUNE 1, 2003 thru MAY 31, 2004	<u> </u>					<u> </u>			<u> </u>		
I EKM.	JONE 1, 2003 tilla PIAT 51, 2004	Page 01	of 01			PROGRAI	 M	S - C				
	DEPARTMENT OF THE TREASURY	raye or		ATS PRTG.		DIRECT		JRCE/INDIANA	SARAH	! M TNC	SHMMTT PR	INT/COPY/MAIL
	(IRS)	BASIS OF		ga, Tennessee		Park, Virginia		oolis, Indiana		Colorado		e, Minnesota
	PROGRAM B776-S		UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE		UNIT RATE	
I.	COMPLETE PRODUCT:	71111111										
(a)	Overprinting Certificates											
(1)	MAKEREADY/SETUP PER PRINT ORDER	36	80.00	2,880.00	200.00	7,200.00	85.00	3,060.00	75.00	2,700.00	44.44	1,599.84
(2)	RUNNING PER 100 CERTIFICATES	1800	3.80	6,840.00		11,700.00		14,400.00	6.50	11,700.00	2.22	3,996.00
II.	PACKING & SEALING FOR											
	DISTRIBUTION:											
(a)	Packing and Sealing Shipping Containers											
	per container	144	8.00	1,152.00	18.50	2,664.00	20.00	2,880.00	14.50	2,088.00	22.22	3,199.68
	CONTRACTOR TOTALS			\$10,872.00		\$21,564.00	ļ	\$20,340.00		\$16,488.00		\$8,795.52
	DISCOUNT		0.00%	\$0.00	1.00%	\$215.64	2.00%	\$406.80	0.00%	 	0.00%	\$0.00
	DISCOUNTED TOTALS	ļ		\$10,872.00		\$21,348.36	ļ	\$19,933.20		\$16,488.00		\$8,795.52
		ļ					ļ					
TITLE:	CAREER SERVICE AWARDS											
TERM:	JUNE 1, 2003 thru MAY 31, 2004											
		Page 01	of 01			PROGRAI	M B77	5 - <u>S</u>				
	DEPARTMENT OF THE TREASURY		TYLER B	US. SERVICES	ABR SI	RVICES	CURRENT (CONTRACTOR:				
	(IRS)	BASIS OF		ngton, DC		d, Virginia	ABR SE					
	PROGRAM B776-S		UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST				
I.	COMPLETE PRODUCT:						IGHE		İ			
(a)	Overprinting Certificates	-										
	MAKEREADY/SETUP PER PRINT ORDER	36	92.00	3,312.00	95.00	3,420.00	100.00	3,600.00				
(1)	RUNNING PER 100 CERTIFICATES						+					
(2)		1800	4.96	8,928.00	10.00	18,000.00	10.00	18,000.00				
II.	PACKING & SEALING FOR	ļ	-				-					
	DISTRIBUTION:											
(a)	Packing and Sealing Shipping Containers	ļ					ļ					
	per container	144	18.90	2,721.60	19.00	2,736.00	20.00	2,880.00				
		<u></u>										
	CONTRACTOR TOTALS			\$14,961.60		\$24,156.00		\$24,480.00				
	DISCOUNT		0.00%	\$0.00	0.00%	\$0.00	0.00%	\$0.00				
	DISCOUNTED TOTALS			\$14,961.60		\$24,156.00		\$24,480.00				
		•										

TITLE:	CAREER SERVICE AWARDS											
TERM:	DATE OF AWARD thru MAY 31, 2003											
		Page 01	of 01			PROGRA	AM B7	76-S				
	DEPARTMENT OF THE TREASURY	BASIS										
	(IRS)	OF										
	PROGRAM B776-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	COMPLETE PRODUCT:											
(a)	Overprinting Certificates											
(1)	MAKEREADY/SETUP PER PRINT ORDER											
(2)	RUNNING PER 100 CERTIFICATES											
II	PACKING & SEALING FOR											
	DISTRIBUTION:						1					
(a)	Packing and Sealing Shipping Containers											
	per container											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS											

TITLE:	CAREER SERVICE AWARDS											
TERM:	DATE OF AWARD thru MAY 31, 2003											
		Page 01	of 01			PROGRA	AM B7	76-S				
	DEPARTMENT OF THE TREASURY	BASIS										
	(IRS)	OF										
	PROGRAM B776-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	COMPLETE PRODUCT:											
(a)	Overprinting Certificates											
(1)	MAKEREADY/SETUP PER PRINT ORDER											
(2)	RUNNING PER 100 CERTIFICATES											
II	PACKING & SEALING FOR											
	DISTRIBUTION:						1					
(a)	Packing and Sealing Shipping Containers											
	per container											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS											

TITLE:	CAREER SERVICE AWARDS											
TERM:	DATE OF AWARD thru MAY 31, 2003											
		Page 01	of 01			PROGRA	AM B7	76-S				
	DEPARTMENT OF THE TREASURY	BASIS										
	(IRS)	OF										
	PROGRAM B776-S	AWARD	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST	UNIT RATE	COST
I	COMPLETE PRODUCT:											
(a)	Overprinting Certificates											
(1)	MAKEREADY/SETUP PER PRINT ORDER											
(2)	RUNNING PER 100 CERTIFICATES											
II	PACKING & SEALING FOR											
	DISTRIBUTION:						1					
(a)	Packing and Sealing Shipping Containers											
	per container											
	CONTRACTOR TOTALS											
	DISCOUNT											
	DISCOUNTED TOTALS											